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CHECKING FOR SoLUTIONS Decide whether the ordered pair is a solution
of the system of linear equations.

(D)3 -2 =11 5.2 (2)6x - 3y = -15 )

—x+6y=7 A+ y=-3
@,\‘+3_\‘= 15 _ W ~S5x+y=19 L
dx+y=6 (3,-6) x—Ty=3 (-4, -1)

SOLVING SYSTEMS GRAPHICALLY Use the graph to solve the linear
system. Check your solution algebraically.

17.)-x+ 2y =6 18.2x —y= -2 19.x+y=3
x+ 4y =24 dx—y=-6 “2x+y=-6

GRAPH AND CHECK Graph and check to solve the linear system.

20.y=—x+3 21.y =6 22.y=2c-4

y=x+1 x=6 _\‘=—%x+|

@11—3,\:9 24.5¢+ 4y = 16 26.x—y=1
x=-3 y=-16 Sx—4v=0
26.3x+ 6y = 15 @u = 4+ 42 28.0.5x + 0.6y = 5.4
-2x+3y=-3 Ty = l4x + 14 -x+y=9




